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21

68.5%
7.3%
15.0%
3.5%
4.1%
0.3%
0.1%
1.1%
0.04%
0.1%

100%

20




12

(mg/L)

<0.006
<0.0
0.005
<0.009
0.01

% ok %

0.005
0.005
0.0012
0.0018




100%

A1m3/
Am3/ A Am3/
Akg/ A
B A A,m/
Bm3/ i
Bkg/ Cumé/
D Cc,m3/
C Cm3/
E C2m3/
Ckg/ Comé/
A Akg/ < Am¥/ / Am¥/
B Bkg/ Akg/ < A,m*/ / Am¥/
D Ckg/ > Cm¥ / Cm¥/
E Ckg/ > Cm/ / Cm¥/
120 t
-5 9.1 g/L
110 t
-6 3.04 g/L
(A)=9.1pag/L>1,200,000,000L/ =10.9kg/
(B)=3.0p g/L>1,100,000,000L/ =3.3kg/
=1- =1- B/A =70%
70% 30%




(M3) (mg/1) | (mg/l) | (mg/))
13-001 07 653,081 | 0.0210 | 0.0050 [ 0.0110
13-001 08 115,654 | 0.0240 [ 0.0040 | 0.0120
13-001 09 201,500 | 0.0140 | 0.0050 [ 0.0080
13-006 01 29,318 [ 0.0100 | 0.0020 | 0.0050
13-006 02 23,145 | 0.0060 | 0.0010 | 0.0030
13-008 01 27,808 | <0.006 | <0.006 | 0.0030
13-008 02 11,608 | <0.006 | <0.006 | 0.0030
13-009 01 12,273 | 0.0220| 0.0080 [ 0.0140
13-009 02 22248 | 0.0090 | 0.0010 | 0.0030
13-013 01-01 -1 29,452 0.0005
13-013 01-03 29,452 0.0030
13-013 03-01 -1 41,961 0.0060
13-017 01 22 449 0.0005
13-034 01 1,020 0.0030
1,220,969 0.0091
10
1/2
-6 Mg/l
1998 4 1998 7 1998 10 1999 1
0.8 1.0 0.6 1.0 0.9
1.5 2.0 0.7 2.2 1.6
3.3 10.5 1.5 1.9 4.3
2.1 3.3 1.6 0.9 2.0
2.5 1.7 1.8 1.2 1.8
2.9 2.9 2.3 2.5 2.7
5.6 17.4 6.0 2.6 7.9
2.67 5.54 2.07 1.76 3.01
.37
‘H12.10
-7 k
1/7  0.000535/0.00367 =10%
-7 (k)
atm m®/mol
95 0.00367 24.8
222 0.000535 25

1 Gossett J.M.: Environ. Sci. Tech. 21, 202-206 (1987).
2 Munz C. Roberts P.V.: J. Am. Water Works Assoc., 79, 62-69 (1987).
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95 64,961 8,543 73,504 19,297
222 1,875 5,964 7,839 10,913
66,836 14,507 81,343 30,210




